=
Al £ Ol &F A} Ml A
20229 20| A LB H SXIE
A SXEMDt
M 20D |ZMEPT(AIRSX/I|ZHEEE)
&Rl MASSIZMHEEH CERE)
- o HEAS =
“?’_}d I-IIH [:I-T'I(Q—Ij:") * HI‘?‘AI’% * Eg‘g O:HAL_I'(lhI O:HAI-OH HIDLSDDI-
SXIE 2t 32,300,441 31,379,773 920,668
= 20,405,527
iy 356,413
= 2,427,188
Al 9,111,313
SO ZMEPE(AISISXI/ I ZMEDE) 20,159,373 20,481,834 A322,461
= 18,037,865
= 1,398,459
Al 723,049
MNASSIZNESHY 20,159,373 20,481,834 A322,461
= 18,037,865
= 1,398,459
Al 723,049
NASS Al n=H| XI& 21,000 24,000 A3,000
301 LPBES 21,000 24,000 A3,000
01 At2| 2EEE 513 21,000 24,000 A3,000
OAt&2l W=H| A& 21,000
—Ss 300,000& * 40 12,000
— =5 300,000 * 30X 9,000
SSTEHISHIILIXA 36,000 33,000 3,000
301 LEBES 36,000 33,000 3,000
01 AtBI|2&EH 512 36,000 33,000 3,000
O=2kt S8 3sdI|Iea N
5,000& * 600MICH * 12& 36,000
(2) A= 19,650,999 19,957,152 A306, 153
= 17,685,899
= 1,375,570
Al 589,530
301 LPBEES 19,650,999 19,957,152 A306, 153
= 17,685,899
= 1,375,570
Al 589,530
01 AIBIEEE 62 19,650,999 19,957,152 A306, 153
OMAI= 19,650,999,000& * 14| 19,650,999
= 17,685,899
= 1,375,570
Al 589,530
WESHAZ(FHEEXE) 25,356 39,690 A14,334
308 AXISHKMSOIA 25,356 39,690 A14,334
08 WEI|ZUCHEIE X 25,356 39,690 A14,334
@mE=r=10;! 25,356,000& * 14 25,356
(2)HAEHZ0 134,718 153,338 18,620
= 121,246
T 4,715




2A:
7(‘|J_:H:
e

m
0
o
10

rx
12

N

L

0l &b

HwsS2

8,757

= H

134,718

121,246
4,715
8,757

153,338

A18,620

O 134,718,000& » 14!

= N H

134,718

134,718
121,246
4,715
8,757

153,338

218,620

H

106,300
106,300

98,054

8,246

H

106,300
106,300

98,054

8,246

[=]
LTS
OF=U= 2ol X (5t

106,300,000& * 14!

H

106,300

106,300
106,300

98,054

8,246

(A2 SEAZE X

= HH

20,000

10,000
3,000
7,000

17,000

3,000

no
<
noe
=
H0
02
o

=N H

11,000

5,500
1,650
3,850

11,000

01 At2teld]

OAtellZtel At 23| 11,000,000& = 14!

= H W

11,000

11,000
5,500
1,650
3,850

11,000

= H W

6,000

3,000
900
2,100

6,000

OAteil2relCHA R X3l 500,000& = 12&

= H W

6,000

6,000
3,000

900
2,100

6,000

307 2I12+0IA

= H H

3,000

1,500
450
1,050

3,000

200,000 = 32 = 53]

3,000

3,000

3,000




SA:

ME: BOD|EMETE(ASI=N /) R R )
Ciel: HASE) | ZMEIE (el &)
. PSIE | =
SA - B G(E) - NRAY - BLS Ofl Ak oA o rod AImE==l
= 1,500
= 450
Al 1,050
() SEAAIZRIAL X1 5,400 0 5,400
2 2,700
= 810
A 1,890
202 018 5,400 0 5,400
= 2,700
= 810
Al 1,890
01 3LHOAYI 5,400 0 5,400
OSSARIZEIAL O1t] 5,400
—2HHOI] 20,000& » 62 » 3% » 123 4,320
= 2,160
= 648
Al 1,512
— 22|04 90,000& * 3¥ * 43| 1,080
2 540
= 162
Al 378
()SH=S A58 SEAHIA X 159,600 159,600 0
2 111,720
< 14,364
Al 33,516
201 LEH2| 79,800 79,800 0
= 55,860
= 7,182
Al 16,758
01 At2teld] 79,800 79,800 0
Oseis AZeIEel U 2
4,200,000 * 197H4 79,800
= 55,860
= 7,182
Al 16,758
301 LBtBHF 79,800 79,800 0
= 55,860
& 7,182
Al 16,758
01 NEEEHSHS 79,800 79,800 0
OSeS ARIZRIAT Xig
4,200,000& * 19902 79,800
= 55,860
& 7,182
Al 16,758
FHAANES NI (MIISX/FHLAHSKIE) 4,012,881 3,187,494 825,387
= 612,000
2 249,731




SN SRR
BE: HOS KA (MEZX/FHAHSKR)
2R A ISR (=EIE-E)
- - dEE =
SA - B BI(3D) - KIRAY - BLS I e HI RS2
= 283,204
Al 2,867,746
B ESNEY 4,012,881 3,187,494 825,367
2 612,000
- 249,731
= 283,404
Al 2,867,746
S ESE 193,420 197,820 A4,400
201 Lere | 8,460 5,860 2,600
01 Al 22lH] 3,300 700 2,600
OoIZ2 ARl MARIRIS] &4 St
70,0002 * 102 * 13l 700
ORIl XIHAME BEEOIR ASE HA
5,0002 * 5002 2,500
OYALBA(ZH2IgA) B2l T=Y]
00,0002 * 12 * 1%t 100
02 2z 5,160 5,160 0
OYAILEL FIIAER 50,0008 » 122 1,800
OYAESL AERH S
1,200,002 * 19H4 1,200
OYAIEEA L2y 12,0002 * 1802 2,160
301 YA 156,000 163,000 AT,000
01 ABIREHZI3 156,000 166,000 0
ORHAISIHE Y|
100,002 * 130MICH * 122 156,000
307 212+0I 28,960 28,960 0
NEEEEEE] 26,960 28,960 0
OSTIARIRICH G4 KI2Hl 30,0008 * 602 18,000
OAT 75 20,0002 * 8% * 122 1,920
OM2{T HIZOI2S 226 10,0008 * 20 2,000
O#IALT EHH] 1,000,002 * 57 5,000
ONEEL 2 2,040,0002 * 144 2,040
EREIERE 172,150 78,370 93,780
201 k2| 24,290 2,710 11,580
01 AFE22lH] 24,290 2,710 11,580
OXIGABIBEHE AIBZD Q1)
10,0002 * 1505 1,500
OOIXIY TIAISI PRI AlSE ol
10,0002 * 1505 1,500
OXIGABIBEEOIM AI2s] B4 25
70,0002 * 602 * 43| 16,800
OYFARIZNAACIIAS] 3lo| 4
70,0002 * 62 * 23] 840




SA =XEHY
B oS A(AE=ST/HAANESTR)
2R A ISR (=EIE-E)
S - B ERI(SH) - MISAY - BAS Of ko cla SimE==]
. (=2 - S/ == 0:"&.0” WsSa
ONZI=X 2 2% Q2 A NX
70,0002 * 3504 2,450
ONBI=X S22 U 840 HA
60,0002 * 2094 1,200
207 HA=1HEH] 50,000 0 50,000
01 AEH| 50,000 0 50,000
OHMIBI|I NS EEH = 3(2023'3~2026'3)
50,000,000& * 1A 50,000
301 LEIBES 3,360 3,360 0
01 AlRIEEE 63 3,360 3,360 0
OYZAIXIASI S RE T SAR 42
140,000& » 2% = 12& 3,360
307 QI2tol & 94,500 62,300 32,200
11 ASI=EXAMEE S 94,500 62,300 32,200
OXIZG Atz =XITHE] 4,500,000& * 14 4,500
OXIGABIHRE IR 52 23}
23,000,000 * 1A 23,000
ORIZAZ SRR IS K& 4,000,000& * 14! 4,000
O2023F HAXtE XFDASIEEHE =8 K&
5,000,000& * 14! 5,000
OF0IFE OI2=NHE g
2,000,000& * 1994 38,000
OZZEA MBIZXIAL H2ASH AR (ZES 90%) 6.000
—ABIZTIAL BTl JHAl
3,000,000& * 14 3,000
—AISI= XIS & AL 3,000,000& * 14! 3,000
OMBIZXIA E4DSH X2
56,0008 » 250 14,000
(2)212=X 590,000 275,081 314,919
= 472,000
< 35,400
Al 82,600
301 LeIBEZ 590,000 275,081 314,919
= 472,000
= 35,400
Al 82,600
01 AlRIEEE=0l3 590,000 275,081 314,919
O21a=X XA 590,000,000& = 1A 590,000
= 472,000
< 35,400
Al 82,600
(A =X S3AY 20,000 20,000 0
& 6,000
Al 14,000




2A:
7(‘|J_:H:
S|

CEyNE=E=In]}

247
oS KIR(A
z

FHAANS

| 2|
=

IS X/ FAASKIH)

o
)
o
o

S LRE-E

- SHRA(ZH) - MIS

A - BEZ

rx
12

N

L

0l &b

HIWE

0¥

307 212+0I1&

Bl

20,000

6,000
14,000

20,000

1 AR SXAIEE X
OAt2|S K2t S3tALE

20,000,000 * 1JHA

=

20,000

20,000

6,000
14,000

20,000

(XEREE

MBI MEIAS ALY

ZHna

298,088

238,470
17,886
41,732

308,095

10,007

N
<
noe
x
H0
02
=

= H

1,000

800
60
140

2,000

A1,000

01 At22teld]
OXIFAe] MBIASE XA

=g

1,000,000& * 14

= H

1,000

1,000
800
60
140

2,000

1,000

307 212+0IA

= H A

297,088

237,670
17,826
41,592

306,095

A9,007

I»:.
=]

05 12k

ﬁ

Q

OXIZ A2l MHIASEXHAIY

297,088,000& 14!

Z N

297,088

297,088
237,670
17,826
41,592

306,095

9,007

= i

16,088
11,261
1,448
3,379

16,088

307 212+01A

= H A

16,088

11,261
1,448
3,379

16,088

16,088,000& * 14

=M

16,088

16,088
11,261
1,448
3,379

16,088

923,715

883,752

39,963

910,265

883,752

26,513




SN SRR
B NS KB (AEISK/HAANST)
29 FHASAE (=EIE-E)
) pSIE] -
S - ZB . CRI(E]) - MIRAY - BES Oil &k e HIDE2
GEFCEE] 910,265 883, 750 26,513
OABIZXIZ 2261 910,265,000 * 144 910,265
402 PIZITH=0| 18,450 0 18,450
03 QIZFSIErAT ] 13,450 0 13,450
OABISRIZ 2B 29 (YHe)| ¥ HESLIE)
13,450,000 * 14} 13,450
HHOITHE! 75 &S 360 10, 160 9,800
201 Lere | 360 360 0
2 Z==Z 30 360 0
ONHRESN SSEHLAIAL S| AR
30,0002 * 122 360
(E)HASE AYFHENE 306,000 262,000 44,000
= 90,000
Al 216,000
301 LEHPE 306,000 262,000 44,000
= 90,000
Al 216,000
01 ANBIRER=H2 306,000 262,000 44,000
ORASE 2P82 2 euez2 N
306,000,002 * 141 306,000
= 90,000
Al 216,000
BREREEEEEREIRE 145,105 122,850 22,255
= 5,000
Al 140,105
307 2I2¢0I 145,105 122,850 22,255
= 5,000
Al 140,105
I EENEEEEETEES 145,105 22,850 22,255
O ENCTEEI 126,105
—oIt| 118,105,0002 * 14 118,105
= 5,000
Al 113,105
—ARAl 22l 8,000,002 * 14! 8,000
OSeIE NHAEIZEEIN Ng
1,000,0002 * 197H4 19,000
(SBEE=TERE 30,000 21,000 9,000
= 2,850
Al 27,150
307 2I2¢0/ 30,000 21,000 9,000
= 2,850
Al 27,150
T EES 30,000 21,000 9,000
OJIZTCHWI 2 [ 30,000,002 * 14 30,000




SN SXEMY
HEH: FoH = |_O‘:( 2|EX|/—,~|OEJ:I|XI|°-I)
29 FHASAE (=EIE-E)
i, HNEE ~
A - 33 - SR(3) - NRAY - BYS Ofl &kt Ol AFou HlwsSZ
= 2,850
Al 27,150
INEYNEEl b= Nl 1,330 860 470
301 LEE2l= 1,330 860 470
09 BAMAHIXES 1,330 860 470
OdE3sZ 2LIEHE AL Z4 0]
90,0002 = 7& 630
Ouazz 2LIHE &3Hl NI
10,0002 * 7& * 102 700
(Z)H2IGHT 25 X 25,000 25,000 0
= 3,500
Al 21,500
307 glztold 25,000 25,000 0
& 3,500
Al 21,500
10 AlRISXAEEE23HI2x 25,000 25,000 0
O™ Ooi At 25 K& 25,000,000& * 1IHA 25,000
s 3,500
Al 21,500
SXZ0ME S RRAUQIMHIXIZ (M EALY) 885,025 856,406 28,619
301 LEe2HS 885,025 856,406 28,619
08 Al =SReBEds 885,025 856,406 28,619
O=AZ0EIS2AES0 XA
867,671& * 85 « 123 885,025
(Z)AIBIST2ALI 22l A2 SR 60,000 30,000 30,000
& 18,000
Al 42,000
307 glZhold 60,000 30,000 30,000
[ 18,000
Al 42,000
10 AlRISXAEEE238IE2x 60,000 30,000 30,000
OArI=X12t Atdl2elAr 2SR
60,000,000& * 14 60,000
= 18,000
Al 42,000
(ZIMBISXRIANEEA RS 33,600 33,600 0
= 10,080
Al 23,520
301 2= 33,600 33,600 0
= 10,080
Al 23,520
01 AtBI2EH =56 33,600 33,600 0
OAMRISXIAESA=E
140,000& = 209 + 128 33,600
& 10,080
Al 23,520




SN

X XH -
o= -

SNRSES N
FHANE X (ABISX/FHAANSKIH)

S EE] (Sr9): @)
x s . AT
S - FE . CRI(EH) - MISARY - BAS il &y S nion HlmS2
(R)DZ2LH9 MEX Y| XA 280,000 1,500 278,500
= 140,000
= 93,240
Al 46,760
301 LeIBES 280,000 1,500 278,500
= 140,000
s 93,240
Al 46,760
01 Al2I2EE 5= 280,000 1,500 278,500
ORZLH9 MEX 3| K&
280,000,000& * 14l 280,000
= 140,000
= 93,240
Al 46,760
DZLH9 XA KIE A 33,000 0 33,000
307 BI2H0| ™ 33,000 0 33,000
01 =227 =l 33,000 0 33,000
OZZLH9 XDHZEe|At MESE IHIIXI XA
66,0002 * 500 33,000
NASE MEoHE X2 (ABISX/J|I=MEEE) 2,360,789 2,151,748 209,041
= 1,708,387
s 106,682
< 123,343
Al 422,377
EAL 2,360,789 2,151,748 209,041
= 1,708,387
s 106,682
= 123,343
Al 422,377
NHEZ2Z A 11,860 11,860 0
201 Et2&H| 11,050 11,050 0
01 At22teldl 11,050 11,050 0
OZ=XNAREEEH AIRA Xt
880,000& = 123 10,560
O 2Eod fId =%
70,0008 = 7& * 13 490
301 LEtBESF 810 810 0
09 HAIMHIXIZZ 810 810 0
OXEXE Alatal =404|
90,000& » 9% » 1 810
()22 A 1,540,682 1,361,225 179,457
= 1,232,546
= 61,627
Al 246,509




SA:

X XH -
o= -

o

HASS MS0HY XA(ASISX/)| Z48 )
= o
=

Sl KHEHAL (S A A)
=] Xz . Clo|( 5 =A HASZ AFOH AT Hmn=2
101 elA4b| 180,000 180,000 0
= 144,000
& 7,200
Al 28,800
04 J12tHI2E XS 180,000 180,000 0
OZ22RAE, SN0 NHE2ZAE 2124H|
750,000& * 204 = 128 180,000
= 144,000
== 7,200
Al 28,800
206 MZ=H| 1,800 1,800 0
= 1,440
= 72
Al 288
01 M=l 1,800 1,800 0
O22RAd 2= A =
100,000& * 18JHA 1,800
= 1,440
T 72
Al 288
307 Q1201 ™ 1,358,882 1,162,398 196,484
= 1,087,106
T 54,355
Al 217,421
05 RIZIRIES 1,358,882 1,162,398 196,484
ONMASE NHE2Z2AYE 29
1,358,882,000& * 14 1,358,882
= 1,087,106
T 54,355
Al 217,421
(XSGR EHSY 320,153 251,691 68,462
= 210,107
= 27,014
Al 83,032
307 Q1201 ™ 320,153 251,691 68,462
= 210,107
T 27,014
Al 83,032
10 AlRI=SXAIEEHE2IHIE X 320, 153 251,691 68,462
OXISAt2HEH 29 XA
320, 153,000& * 1JHA 320, 153
= 210,107
T 27,014
Al 83,032
(2)XLXSEAIS MBIAE XA (DIARPE S 2 R) 133,353 165,193 A31,840
= 106,682
& 8,001
Al 18,670




s
£ MBI KA (ASI=X/ I ZME D)
oA
=

i
40
F]
o

S - ZB . CRI(E]) - MIRAY - BES

N

L

0l ko

HIWE

0¥

307 2I12+0I1A

= H

133,353

106,682
8,001
18,670

165,193

231,840

OJtAtZtE 22 X3 A 133,353,000& » 14!

= H

133,353

133,353
106,682
8,001
18,670

165,193

A31,840

=

10,080

3,024
7,056

10,080

10,080

3,024
7,056

10,080

pa
B
=
m
O

ALRF ==
140,000 = 6% = 128

= i

10,080

10,080
3,024
7,056

10,080

(Z)XEEHSHAIHIXIR

=

25,000

7,500
17,500

15,000

10,000

307 212+0I&

=

25,000

7,500
17,500

15,000

10,000

>

25,000

25,000

7,500
17,500

15,000

10,000

= H W

21,662

18,008
1,096
2,558

28,662

A7,000

307 212+0I1A

= H H

21,662

18,008
1,006
2,558

28,662

7,000

21,662,000& * 14l

= H

21,662

21,662
18,008
1,096
2,558

28,662

A7,000

30,001

138,774

A108,773




MR HASE MBONN K2 (AISI=XI/ )| EMBET)
Crol: RIEAN (o) @)
= =zH . C}O|( S S A HAS AHOH HEE Hp=2t
= 24,940
= 1,518
Al 3,543
307 BIZ2+0| & 30,001 138,774 A108,773
2 24,940
c 1,518
Al 3,543
05 RIZtREZ 30,001 138,774 108,773
OIS EZH(XHA) 30,001,000& = 14! 30,001
= 24,940
° 1,518
Al 3,543
(Z)oesay=roidg aNa(HLI =) 12,791 5.941 ~3.150
= 10,633
< 647
Al {501
307 2I2t0|& 12,791 15,941 A3,150
= 10,633
°c 647
Al 1,511
05 QIZIREZ 12,791 15,941 A3,150
Ol I=sss 12,791,000 » 14l 12,791
= 10,633
< 647
Al 1,511
(Z)22ssEUsr2 g2 X/ (ZEH5 2 |I2ER) 22,542 63,749 A4, 207
= 18,739
o= 1,141
Al 2,662
307 2IZ2t0|& 22,542 63,749 N4, 207
2 18,739
o 1,141
Al 2,662
05 RIZIRIEZ 22,542 63,749 N4, 207
OFHS I IZEE 22,542,000 * 14l 22,542
= 18,739
c 1,141
Al 2,662
(Z)oesay=raiog S NA (A=A 121,040 89,573 31,467
= 100,620
°c 6,126
Al 14,294
307 BI2t0| & 121,040 89,573 31,467
= 100,620
c 6,126
Al 14,294
! 121,040 89,573 31,467
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SN

NE: HASE MEOE X(AE=T/IIENSDE)
ciel: T A (2l &R)
] _ - AT
SA - ZH - AA(3) - MIRAY - BHAS Off &K 01l AkoH Hns2
= 60,805
T 3,702
Al 8,637
307 2I2H0l A 73,144 0 73,144
2 60,805
T 3,702
Al 8,637
0% SeIEs 73,14 0 73, 14
SETENEESTEACNEE S
73,144,000& * 14 73,144
= 60,805
& 3,702
A 8,637
Dowe pel(Nal=1/2E) 3,179,720 3,137,030 42,600
L 607,800
Al 2,571,920
SS2e X 3,179,720 3,137,030 42,690
< 607,800
Al 2,571,920
S & Alda2t] 504,520 426,830 77,690
201 LEH2H| 33,140 60,340 AN27,200
01 At22t2ld| 26,700 31,600 A4,900
OREEH ARY 2XE T
280,000& * 504 Sl = 12& 16,800
OUjsrz=E ISR oty BX} M
5,000& * 1,0002 5,000
O8N 2 L22ZH| 50,000& * 103/ 500
OFXF3A 2 MZ 55,000& * 807| 4,400
02 S=23| 6,440 3,440 3,000
Oszg 2za3 120,008 * 122 1,440
OEE3B U HEAL I R
5,000,000& * 14! 5,000
206 =l 1,000 400 600
01 M=l 1,000 400 600
OBZAE SZTHIE TH| U %E T
50,000& » 108 * 23| 1,000
301 PBES 2,880 65,990 263,110
09 SAIAHIXIES 2,880 65,990 263,110
OS=aAL 2t &4 o] 90,000& * 329H 2,880
307 2I2H0 A 282,500 273,100 9,400
03 BIZIEHIHE2ZHIE X 146,000 142,700 3,300
Om=s YFE=HAENS U6l NV (XS
T oK) 1,750,000& * 4= 7,000
OM0IZ2S SFATE ST NA(DXS
oK) 4,400,000& * 47| 17,600




SN SXEUD
Mz 2IIEE 2el(A=EX/EE)
o9 2EAUX (SHel: &H9)
S - HZH . CI-_?_|(§D1|) - HIEAIY - A= Of| AFOH HEE Hm=2
- o=t d - o/ o= 0:"&.0_‘” US55
ONZREREF FAIXG 2| XNJA(EXE
oK) 4,400,000& * 42| 17,600
ONE2z=Z0I1Y2s F=AIXIE 23| XA
(Bxg Fd) 4,400,000& * 42| 17,600
OR2x&s AFAIXE 22| J(BX2
IoH) 4,400,000& * 42| 17,600
O6. 58RI X3 F=AIKIE 23H| XI&
(BX8 HH) 4,500,000& * 427| 18,000
OEIEEES S=AIKE 224 XA
(BXE HH) 3,000,000& * 4= 12,000
OLNGHERE| HFAIKS 24| X (BEXE8
oK) 2,625,000& * 42| 10,500
OExYR7r3 A2 FFAKs 23| KA
(Bx8 JH) 775,000 * 47| 3,100
OY9=AMNE20IE 22| N(BEX8 dH)
6,250,000& * 42| 25,000
05 RIZtRIErZ 103,000 100,000 3,000
otfstasgsd 29
103,000,000& * 1JH2A 103,000
11 AISISXAIEE X 33,500 30,400 3,100
OMAs B=2UaA /2 XA
100,000& * 60Y 6,000
OL0IRotNX] Y SASS(ESUYRFSAS])
4,500,000& * 13| 4,500
OFASKEE L A SAEES(DGHELS])
4,000,000& * 13] 4,000
OMallz=52l & SA} 4,000,000& * 14 4,000
OEXRSAL SOt A} 3,000,000& * 13 3,000
(@)Sii==mE=; 3,000,000& * 13 3,000
O=2ZL(AUE, 2=F) J|IEHA XA 5,000
—&UE AL 5,000,000& * 13| 5,000
O==6g2 < At 4,000,000& * 14 4,000
401 Al&EHIZ 200 185,000 24,000 161,000
01 Al&HI 185,000 24,000 161,000
OlstZsHIIE32 Ald E|
10,000,000 * 14 10,000
OJIHARX Ss&& =2H| JH|
25,000,000 * 14 25,000
O4as M= &4 HMHKX H
150,000,000& * 1A 150,000
(E)sSESNLREo UK 46,000 0 46,000
T 13,800
Al 32,200
301 LPBES 46,000 0 46,000
T 13,800
Al 32,200




SN =XFHD
BE: 2DVIPE B2|(ME=X/2E)
SH9l: PEDRANI (EH9l: @2)
x s . AT
S - B BR(S) - NRAY - BES 04l b0t e HimE==T
ISR 46,000 0 46,000
OSYREBN L R= 2I2H| X
2,000,0002! * 233 46,000
< 13,800
Al 32,200
(S)EHRTULRIIES0 4+ 1,626,000 1,719,000 £93,000
< 594,000
Al 1,082,000
301 YPEFI 1,626,000 1,719,000 £93,000
< 594,000
Al 1,082,000
01 ABIEEE T2 1,626,000 1,719,000 A93,000
OBHRBN o4
50,0008 * 830% * 122 1,494,000
= 498,000
Al 996,000
OBHRBI AYSIZ3
300,0002 * 10Z * 122 3,000
ORIE YU+S(HS2YRE)
50,0002 « 160 + 122 96,000
= 96,000
EEETEN= 796,200 796,200 0
301 YBBFS 796,200 796,200 0
01 ABIEZESGZ 796,200 796,200 0
OFEY+E N 796,200
—BROAT BoSY
70,0002 * 930 + 122 781,200
—BEOAT AZSIZS 300,008 * 509 15,000
AE BESTT 2T =L 207,000 195,000 2,000
301 YPEFSZ 207,000 195,000 2,000
01 ABIEEET2 207,000 195,000 2,000
OAYE BHESBT HI2X SX4S 207,000
—HHPXF ZXI4E 50,0009 * 3208 * 122 192,000
—HSX AR 30,0002 * 50 15,000
HHSAHI(SXF=B) (OIEHIIED 290,748 281,065 9,683
2 47,275
= 14,182
Al 229,291
SEEX=TT 174,692 161,829 12,863
= 47,275
= 14,182
Al 113,235
(2)SSARIATIR(22HH) 127,881 98,568 29,313
2 47,275
= 14,182
Al 66,424




SN =XFHY
T2 WHSAAHI (SN (JIEYIIED
crel: olz2ey| (EH9l: @2)
2 = = HET =
A - B SRA(3H) - HRAY - BES Ofl &b oK 01l AkoH Hlws2
101 21218 113,972 98,5683 15,404
= 40,320
= 12,096
Al 61,556
03 RN (I A 22NES 113,972 98,5683 15,404
OSSARIZIZIAL Q121 113,972
-J=3 2,110,002 * 3% + 122 75,960
2 37,980
= 11,39
Al 26,586
S EGELES=
16,0009 * 20A12F * 3% * 122 11,520
= 2,340
= 702
Al 8,478
—F24Y 2,110,008 * 2.5% « 3% * 23] 317
—HEEM|
2,110,008 * 75% * 3% * 23] 9,495
—imag 2,640
N 40,0002 * 1% + 122 480
JIEHEMAHS =a)
20,0002 * 3% + 122 720
- STRH 60,0002 * 2 + 122 1,440
—INRSEIY 120,008 * 32 * 152 5,400
— gl 140,002 * 3% * 128 5,040
nES] 100,002 * 3% * 128 3,600
CURSELTEEE 3,909 0 13,909
= 6,955
= 2,086
Al 4,868
ESELES] 8.869 0 8,869
SlEELTEE 8,869
—ssARIZA 20103 223
120,002 * 3% * 128 4,320
= 2,160
= 648
Al 1,512
SsARI2RIA SIR30 Y2
4,549,002 * 14! 4,549
= 2,275
e 682
Al 1,592
VELEEEEE 5,040 0 5,040
OSSARIZEIA 21228 293
140,009 * 3% « 122 5,040
= 2,520
= 756
Al 1,764




SH: =XEMY
M AY2IIH(SNEFHD)(IIEHIIE)
crel: o2y G=CE-E
S - R - SRIEH) - ARAY - BAS e G HIDE2
el 2 | 46,811 60,261 213,450
101 el24H] 46,811 60,261 13,450
03 SRAH(RIH) 222+ 46,811 60,261 13,450
OLAIESA(ACIEAL &elel 46,811
—Jl== 2,166,850 » 18 » 128 26,003
—HESJIH 2,166,850& * 75% * 18 23 3,251
—d2+E 2,166,850 » 45% = 18 * 23] 1,951
—ARteIRRA
12,8532 * 150% * 15A12t + 12 * 128 3.471
~RUaesy
102,824 = 150% = 1 * 50« 7,712
—dAx=RaERIeE 102,824% = 198 * 15 1,543
—dHaAbl 140,000& » 1& » 12& 1,680
—uwSEXH| 100,000& » 1& » 128 1,200
=3l 116,056 119,236 A3,180
Jl=38H 116,056 119,236 N3,180
201 k=g 26,8% 26,896 0
01 At22teld] 26,8% 26,896 0
O=SAEX 2l 16,0003 » 212tA = 123 4,032
OS24l 7,0008 » 64l = 219 » 128 10,584
Ogttez 100,000& = 12& 1,200
Oa2 EA7H 50,000& * 12& 600
Oar2 =&l 9,220
—SADI(TE) =2 1,000,000& * 1.5CH 1,500
—Z2IED| 100,000& = 4CH = 50/100 200
—=SAD EY 200,000 = 53| = 1.504 1,500
—TRIED|(5H) EU
200,000& = 52| = 4CH 4,000
—ZRIEDI(Z2d) Ed
200,000& = 53 = 10K 1,000
—PC==2l 100,000& = 21CH = 20/100 420
—J|Et==2ibl 50,0008 = 123 600
OJIEH AFR2tIH] 5,0008 » 2198 128 1,260
202 04l 83,160 86,940 23,780
01 =LHOLI 83,160 86,940 23,780
O2ALHALI 20,0003 = 218 » 122 = 128 60,480
O=2| | 90,0003 = 21 = 12& 22,680
203 gF=&| 4,800 4,200 600
04 FAEIHRFAI 4,800 4,200 600
ORAN=2E SR8 400,000& * 12 4,800




S =XEMD
M HH2HAY|(SXFHD) (OIEHIIE
ciel: J|=3Y) (Sl &21)
SA - B G(E) - NRAY - BLS 0 Ao el AImE==l
204 2 R4 HH| 1,200 1,200 0
01 HMSHR=HZ| 1,200 1,200 0
OXSHLLHAY| (SNHH )
100,000& = 1 » 128 1,200
MPES(SXE L) (AISSX/ | =M S E) 2,296,930 2,140,602 156,328
LHSHHKI= 2,296,930 2,140,602 156,328
LIS HH K= 2,296,930 2,140,602 156,328
701 JIEI HEEES 2,296,930 2,140,602 156,328
01 JIEtsIHNEES 2,296,930 2,140,602 156,328
OoIR20 TBHI(XILHISEH)
2,270,455,000& * 14! 2,270,455
OEEER LIS 26,475
—YEEM
2,250,000& * 75% * 28 * 23| 6,750
—HMZAl| 140,000& = 2H * 128 3,360
—&32=2  2,250,000& * 2.5% * 28 » 23] 225
—nES8xH| 100,000& » 2 * 123 2,400
—a0= 2,250,000& * 50% * 2F * 43| 9,000
—iELg 20,0002 * 122 1,440
—IRRIRIIEY 10,0008 * 23 + 152 3,300






